BEHRRICETSPRTRELBEE - BHE (BEEE . THIVEED)
(kg/4E, Z'A A% o FHITng-TEQ/4E)
NEDE BFHEE BHE - BTE
ME - | AER A P =
®=e MER P Kigh TR A&t BEY A&t Hit
1 [#ighOKEHALE Y 327 4,158 0 0 4,485 3, 180 0 3, 180 7, 665
2 [ 77IATIFR 0 0 0 0 0 10 0 10 10
3 T UNEBRTZFIL 0 0 0 0 0 240 0 240 240
4 | T2 VNERKR O OKEEE 0 0 0 0 0 2, 300 0 2, 300 2, 300
5 TIUNEE2— (PAFALTI)) =F)NL 0 0 0 0 0 0 0 0 0
8 [T UNEEAFIL 0 0 0 0 0 93 0 93 93
9 T7r7UVmr=FtY 1, 100 0 0 0 1, 100 190 0 190 1,290
13 [7Ehr=FD/L 41 0 0 0 41 41, 000 0| 41,000 41, 041
20 [2—T3I)xH)—) 0 0 0 0 0 11, 000 0 11, 000 11, 000
BT X NR_P U A NVE VRO O (T VR
0 BEHAL 025 1 4 ETOLOROLDRAWICES, ) 0 1, 800 0 0 1, 800 0 0 0 1, 800
31 [T UFEVKROEDILAY 0 0 0 0 0 297 0 297 297
33 | afE 0 0 0 0 0 9, 280 0 9, 280 9, 280
O—TFN=0—4—=br7xz=)L="72=)LiKAK/F
18 N A E PN) 0 153 0 0 153 0 0 0 153
53 |ZF AP 44, 649 0 0 0| 44,649 81,653 0| 81,653 126, 302
56 |=FLAFUHR 4 0 0 0 4 0 0 0 4
58 |[=F LY a—LE)AFLT—T)L 7 0 0 0 7 0 0 0 7
60 |=F LT T I U UEERR 0 0 0 0 0 0 0 0 0
71 HEAbEE gk 0 0 0 0 0 3, 900 0 3, 900 3, 900
5 I LAKROEOILAY 9 5 0 0 13 580 0 580 593
7 ALV T AYTFIFR 0 0 0 0 0 0 0 0 0
80 [F L 79, 501 0 0 0| 79,501| 100, 549 0| 100,549 180, 050
8L [¥/ ) 0 0 0 0 0 0 0 0 0
87 |7 u ARV A7 v MEEW 197 139 0 0 336] 63,570 0| 63,570 63, 906
88 |AfliZ v LA 0 70 0 0 70 0 0 0 70
104 7yt uryy HBIAHHCEFC—22) 93 0 0 0 93 0 0 0 93
2—sumn—4, 6—tA (=mFLT7I/) —1, 3, 5—
U3 1y 200 @i~ UECAT) 0 1 0 0 1 0 0 0 1
125 z7oua~_rPyr 620 0 0 0 620 20, 000 0| 20,000 20, 620
127 7okl h 12, 000 3, 200 0 0 15, 200 1, 800 0 1, 800 17, 000
128 7 mnm X & v (BILHEILA F V) 72 0 0 0 72 650 0 650 722
132 |21 R ROZEDLE) 0 0 0 0 0 510 0 510 510
144 | HEEES T ALEY GEER O T U AR, ) 0 172 0 0 172 1 1 2 174
N, N=YVZFNLFAHNNRIUES—4—r D)0
WU T A BT AT A —T) 0 10 0 0 10 0 10
149 | PUEAb iR 0 1 0 0 1 0 0 0 1
150 |1, 4—UFFH 0 54 0 0 54 0 0 0 54
154 > 7u~FILT I 0 0 0 0 0 0 0 0 0
157 [1, 2—y/mpnxH 0 2 0 0 2 0 0 0 2
158 1, 1—vzmrxFLy BLkElbe=)F) 0 14 0 0 14 0 0 0 14
159 v 2A—1, 2—Y7mpxFL 0 22 0 0 22 0 0 0 22
2, 2—YZuu—1, 1, 1—-hV7Atua=sr (G4
164 | Hepc_123) 360 0 0 0 360 0 0 0 360
179 1, 3—Yz7mursaxy (M4D—D) 0 1 0 0 1 0 0 0 1
186 v/ mm Ay (B AF L) 0 15 0 0 15 0 0 0 15
20712, 6—V—HF—3xV—TFL—4—J L/ —)L 0 9 0 0 9 0 0 0 9
210 2, 2—Y7mE—2—LF7 )7k FTIF 0 9 0 0 9 0 0 0 9
N— (1, 3—UAFATFNL) —N —Txz=/L—_F—
230 |5 L 5 sl 0 0 0 0 0 0 0 0 0
237 [KERK O DILED 10 2 0 0 12 600 0 600 612
239 | GHEA X(LEWD 0 0 0 0 0 270 0 270 270
240 [ A F L 5, 694 0 0 0 5, 694 54 0 54 5,748
242 | £ L ROZE DAY 0 107 0 0 107 0 0 0 107
243 &/rﬁﬂey/ﬁ 1,011 11 0 1 1,023[ 30,058 0| 30,058 31, 081
262 SysmuxFLy 0 5 0 0 5 0 0 0 5
265 % b Ra AFNVEKT 2 VEE 0 0 0 0 0 400 0 400 400
268 i) FAFNTTTATANT 4 K BT VT LT 0 3 0 0 3 0 0 0 3
272 [SRKIETER (B AR, ) 4 398 0 0 402 0 0 0 402
277 [ RV = FNLT I 3, 640 87 0 0 3,727 0 0 0 3,727
279 (1, 1, 1—hVZpoxzxy 0 173 0 0 173 0 0 0 173
280 (1, 1, 2—hYZwpoxzHxy 0 3 0 0 3 0 0 0 3
281 | hYzmmrzF Lo 0 7 0 0 7 0 0 0 7
206 (1, 2, 4—F)AFAL_ P 1, 309 0 0 0 1, 309 30 0 30 1,339
297 (1, 3, 5—hrUAFAL_ P 2, 026 0 0 0 2, 026 0 0 0 2,026
300 | kv 102, 412 0 0 0| 102,412 203,835 0| 203,835 306, 248
302 | FTHLY 150 0 0 0 150 0 0 0 150
304 |50 40 0 0 0 40 0 0 0 40
305 |#rbEW 473 218 0 0 692 28, 085 0 28, 085 28, 777
308 | = v 51 4 0 0 55 8,571 2 8,573 8, 627
309 [= v 7 UL EW 210 49 0 0 259 1,548 21 1, 569 1,828
332 Ekt%&o%@ HRIL S 24 86 0 0 110 2, 500 0 2, 500 2,610
333 0 0 0 0 0 1, 200 0 1, 200 1, 200
342 0 0 0 0 0 890 0 890 890
349 |7 x ) —L 0 0 0 0 0 240 0 240 240
354 |7 HNEEY — ) V= IL—T F)v 0 0 0 0 0 3 0 3 3
374 | 5o LK FE K O DKEEE 90 9, 151 0 0 9,241 4, 580 200 4,780 14, 021
384 |1 —TwESm i 11,700 0 0 0 11,700 0 0 0 11, 700
392 [ L= L—~FH 59, 113 200 0 0| 59,313 13,340 0 13,340 72, 653
398 (N v=r7nrl K FIAEE UL 0 0 0 0 0 0 0 0 0
400 [ RP 5, 667 5 0 0 5,672 0 0 0 5, 672
405 135 KILAED 18] 68,990 0 0| 69,008 4,820 13 4,833 73, 841
406 AV Hifkr 7 == (34 PCB) 0 1 0 0 1 7, 100 0 7, 100 7,101
410 [ AY AFvxzFLy) =/ =T =)L —F )b 5 0 0 0 5 0 0 0 5
411 [FRVLT LT E R 140 6 0 0 146 8, 700 0 8, 700 8, 846
412 | U H L JOZE DAY 1,557 6, 755 0 0 8,312| 277,386 0| 277,386 285, 698
415 | A X 7 VLR 0 0 0 0 0 550 0 550 550
420 | A X 7 D IVEEA TV 0 0 0 0 0 1, 400 0 1, 400 1, 400
438  AFNFTHL 1,325 0 0 0 1,325 0 0 0 1,325
448 [ AFLUER (4, 1—Tx=LY) =4V Tx—h 0 0 0 0 0 0 0 0 0
453 [ BV 7F U RO DILED 113 0 0 0 113 2, 359 0 2, 359 2,472
455 [ELRY v 0 35 0 0 35 0 0 0 35
461 [ WAFRERY 7= =)L 0 0 0 0 0 0 0 0 0
ERFEFDEDET 334,752 96, 120 0 0] 430,872] 909, 264 237] 909, 501 1, 340, 373




